CBCS/B.A./B.Sc./Hons./4th Sem./ECOACORO08T/2020

=ed foemry

WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 4th Semester Examination, 2020

ECOACORO08T-EcoNnoMICs (CCS8)

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

1. Answer any five questions from the following: 2x5=10

fsERe @-ciet 256 2via Ted wies

(a) Define Nash equilibrium.
I SIAICTS TR WS |

(b) What is quasi-rent?
AR FICF CeT 2

(¢) Why demand for inputs is called ‘derived demand’?
ToFAel BIRAICT (e TG bifznl e 2

(d) What is dominant strategy?
AT (FieT <5

(e) What is meant by externality in consumption?
(I (T AT 0 fF @I 9

(f) Describe the conditions of exchange-efficiency in a two-person, two-good model?
73 & 12 73y uce [fTm-wrer sewfe 3¢q st

(g) Differentiate between firm demand and industry demand.
e wifemt e Ficewm vifen #11gs T

(h) Define welfare economics.
FoTIeFIRN SLeTIfoR e wie |

(1) State the prime characteristics of Monopsony market.

G (ela Areica 2 g Rge sl

2. Answer any four questions from the following: 5x4 =20

fsEke @-iet 51Ff6 2tia Ted wies

(a) Explain the concept of social welfare function.
NG Ferpiel ST QIefs 1 S|

(b) State briefly adverse selection and moral hazards.
R “elfopet v ¢ Cafos RRwife’ armel wfb @

(¢) Why the supply curve of labour is backward bending?
ST A @A BT 2 & 9
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(d) Explain in brief kinked demand curve.
c1el-ffTR pifewt i i=efs ket i e

(e) Show that the elasticity of supply of an input governs the level of rent.
(e (@ SAMICTR @I9NCTR FEfogiomelr e Aemi i fea s

(f) ‘Labour exploitation occurs in both the monopoly and monopsony markets’—
Explain.

‘R M @Bl Kool € @bl (ol Tew I 2@ A —N! T
(g) How can risk be reduced through diversification?

Rivaace g i [Fei 2= T a7 9
(h) Explain the concept of excess capacity of a firm under monopolistic competition.

GO SIS AR T Tge Foid A=elB 41t T |

3. Answer any two questions from the following: 10x2 =20
fasfie @-ce 7 evs Teq wies

(a) ‘Ifall the markets in an economy are perfectly competitive, Pareto efficiency will
automatically be reached’— Do you agree with this statement? Give reasons.

I TS i el “feferiael e S i WSl Fe Tl e
34 e — o & 92 I3 3 QIS (Hilel T 2 IR (oIR Srole mie |

(b) What is cartel? Use Prisoners’ Dilemma to explain instability of cartel.
I T 9 TR R0 AN FRIC PICHCER S| 1 A |

(c) ‘Rent is not income of a particular factor of production but merely an aspect of
income of any factor of production’— Explain.

Qe wysllg @0 e SAMICT =T 7, (@ Fie SAMICT SNEd @5 [os s —
AR A

(d) Derive firm’s demand curve for a variable factor in a competitive market when
several variable factors are used.

afsrforere AeE T2 Tome JIRTHE 9I0 FEE @ 90 [eR TAmicT
wifzw @ iz s

(e) Explain the price and output determination in a model with a dominant firm and a
competitive fringe.
a6 S A AL T @ PR TPREFI TG GeoAwS @D AR [FOIR 7 @
Teoiwe 7S Frare (e 2 TS ©f A1 Il

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 4th Semester Examination, 2020

ECOACORO09T-EconoMmiIcs (CC9)

INTERMEDIATE MACROECONOMICS-II

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

I. Answer any five questions from the following: 2x5=10

fasfeiie @-ieat #fipfs elvas Ted wiss

(a) What is adaptive expectation?
S @opi 5 9

(b) What is meant by Growth Accounting?
w2 Ffard aleiet w700 [ @RI 9

(c) What is inventory investment?
epe RIS FICE A0 9

(d) What do you mean by speculative demand for money?
FivFiaie Sde bifRnl e & @ical ¢

(e) What is the basic idea of the Rational Expectation Theory?
Ffeleies oy wrgd o1 aiel it S

(f) What do you mean by consumption puzzle?
celaeTiere 44l TeTCe 6 @R 9

(g) What is Solow residual?
TN SR FoT0e < @RI 2

(h) What is steady state?
HRbeTe SRR SRS FICE AT 2

2. Answer any four questions from the following: 5x4 =20

fsEke @-iet 51Ff6 2tia Ted wies

(a) What do you mean by Golden Rule Level of capital accumulation in the Solow 5
Growth Model?
(AT ST WO e AES0TR Feffe o <eice &6 @i ¢

(b) What was the doctrine of Mercantilism? How does it fundamentally differ from 2+3
Physiocracy?
TR Foferer ol & fee ¢ e fErawifs srea et @3 a1 N @@= 9
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(c) Distinguish between fixed and flexible accelerator.
%1 @ sifee el wa 7 S A &

(d) Do you think that transaction demand for money is interest sensitive? Explain.
ofSl 5 A e @ e e BifRwl orE R =i el 2 9 i e

(e) How do the new Keynesian macro-economists explain that the wages and prices
are not flexible in the short-run?
T @A TEere wRfeRval Feir T FEET @ THEEE TR ¢ wed B
AT 2

(f) How is the consumption puzzle solved by the Relative Income Hypothesis?
Explain.

ol oY ©rgd MR (Siaiae g fFei s 51 27 ¢

3. Answer any two questions from the following:
fasfeie - 7 evs Teq wies

(a) Explain why individual speculative demand for money is a ‘step function’ while
the aggregate demand for money schedule is downward sloping.

odfa feste FoasiTe vifzw @l Lo Sicorss fne wedq AW vifent @2 =S
R FCANN

(b) Discuss the Solow model of growth. Examine the effects of change in (i) the
savings rate and (ii) the rate of growth of population on the growth rate of the
economy. What are the features of endogenous growth models?

-3 ST e Sceaba Scasat S Sifde Tfag $oF (1) HHEEd AEE @R
(i) TPRA-T g AEF RS dOR FEv F@l1 AT Mg @SS«
ored (aErefe i o

(c) What are the different forms of Investment? How an income tax on corporate
profit affects investment decision? What is Tobin’s “¢”? How it is influenced by
stock market fluctuations?

Rfvcer [fen agfosl & & ¢ afdftrr kzr TR B 39 e [fvaies
Praee eeiike 36 2 Bk @3 ¢ I 0 9 R ASIER S 7Rot @b FoIt
2ol 23 9

(d) Explain how the Fisherian theory of Intertemporal Choice explains the effect of a
rise in real rate of interest on consumption of different periods. What may happen
to consumer’s optimum choice for a borrowing constraint which is binding in
nature?

I FC | T e 7S TREAY AUTF O (SIGIF vl 53 [FoiE erelfte o7 ¢

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 4th Semester Examination, 2020

ECOACORI10T-EconoMmics (CC10)

STATISTICAL METHODS FOR EcoONOMICS-I1

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z FIMo Q"Y/VW fac T
Candidates should answer in their own words AT TS ST I AT AN N
and adhere to the word limit as practicable. s R

All symbols are of usual significance.

1. Answer any five questions from the following: 2x5=10

feaferiae @-cieat =5 @ Te nies

(a) Give Classical definition of Probability.
TR Y77 7@ 7€ |

(b) Define Probability density function.
YAl g SCHFF FCF 0T 2

(c) Are mutually exclusive events independent?
ofteei ARl T Bl f 7@ 2

(d) Cite two situations where Poisson distribution is the appropriate theoretical
distribution.

uft ~iffzfon e e T @RI #=7e e wifgs e R e
(e) Explain Stratified Random Sampling.
BAGO HPTEI T 5 FICF A0 9

(f) For a population of six units, the values of a characteristic X are given by 3, 9, 6,
5, 7, 10. Consider all possible samples of size two from the above population.

= 935 [ e oF @i @36 @fiEy X-1 Weefi %=1 3, 9, 6, 5, 7, 10.
TGS FACHH (A Y2 Oed (2 71y TAF [t s

(g) What is Sufficient Estimator?
A AFTF FIE 0 9

(h) For two random variables X and Y
E(X) =8, E(Y) =6, Var(X) = 16 Var(¥) =36 and p,,=0.5
Calculate Cov (X, X+Y).

b R 5518 X @R Y 3 (FCT E(X) = 8, E(Y) = 6, Var(X) = 16 Var(Y) = 36 &%
p.,=0.5; Cov (X, X+Y)-%= faefay vcai
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2. Answer any four questions from the following: 5x4 =20
fasfrie - e eless Teg nies
(a) State and prove Bayes’ theorem. 2+3
Bayes’-3 &A9(mis Rg® '@ @sidl el |
(b) Show that Poisson distribution is a limiting form of Binomial distribution. 5
8 @ 2R e s fweices @6 e 6o
(c) Evaluate probability distribution function (F(x)) from the following probability 5

density function f(x).
e ARG 99g SorFF (AF ASRA! = Serws e e
f(x) =(1/8)e™° for 0< x < oo

= ( elsewhere

(d) Giving example explain the difference between statistic and parameter. 5
Twfzgel ST statistic G3R parameter-3 21 A FC! |
(e) Explain Maximum likelihood method of estimation. 5

ARSFT FAEF AV 2Iwfo’ A S|

(f) X and Y are two random variables having joint probability distribution given 5
below:
(0 oI X @R Y-a3 W& FYe TRl e eI ew (rean zgeis
Y 0 1 2
X
0 0.1 0.1 0.1
1 0.1 0.2 0.1
2 0.1 0.1 0.1

Calculate correlation coefficient between X and Y (p,)).
X @R Y-97 g 72olfs 72ol= (p,,) 7 T

3. Answer any two questions from the following: 10x2 =20
fasfeie @-ce 7 et Teq wies
(a) (i) Prove that for two independent random variables E(XY)=E(X)-E(Y). 4

23l B @ 90 FEA O o9 @3 (F@ E(XY) = E(X)-E(Y) |

(i) A and B play for a prize of Rs. 99. The Prize is to be owned by a player who 6
first throw a “3” with a dice. A4 first throws if he fails B throws and if he
fails, 4 again throws and so on. Find their respective expectation.

99 DI 2NEE & 4 QR B (AEF | @I =@ AR @ HENRG 20 3
(T (R &iTS oS FE | A 20 23! [0 F0a o7 It sigedid 23 o[ B =@l
et 3, T G TP W O@ WRE 4 2@ Fews! I3 (TSR (4e verce
QCF | S AT 2epit el Fa
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(b) (i) Find mean and variance of Binomial distribution.

(ii)

() (1)

(ii)

(d) (@)

4111

(ii)

N.B.:

ol fRCIta 9T Wi @ (on Wi foef el

In a sample of 100 workers in a factory the mean and standard deviation of
wages are Rs. 11.35 and Rs. 3.03 respectively. Find the percentage of
workers getting wages between Rs. 9 and Rs. 17 in the whole factory,
assuming that the wages are normally distributed.

[ Given ©(1.86) = 0.9686 and ®(0.78) = 0.7823]

O PRANT 100 TCF @FH T TSN 261 THF TGRER 9T A @R ITHF
A1 TAFCT 11.35 '8 3.03 BIFT 1 Ioal FIRAAE F© *oik* &5 9 il @ 17
B g WgR - 2N [T Tt @i gl wreiie [Refere @itel

[(ReT Nt B(1.86) = 0.9686 €<% (0.78) = 0.7823]

Find the mean of a sample mean in both SRSWR and SRSWOR. Also
calculate Standard error of sample mean in SRSWR.

SRSWR @& SRSWOR +i&fs 7o fofers o2 Tl aitea af¢ ey s
SRSWR-F (a3l 9CTH 7 A% el ea

Following is the random sample from an unknown population 14, 19, 17, 20,
25. Estimate the Mean and Standard deviation of population.

Q6 SOl ANEF (AT RS FPrEd T 92T 2@eR 14, 19, 17, 20, 25;
TN 51T 8 TN [yfeq aafb »famiet faef s

A random sample of 100 days shows an average daily sale of Rs.50 with a
standard deviation of Rs. 10 in a particular shop. Assuming a Normal
distribution, construct a 95 % confidence interval for the expected sale per
day.

@A @I P @F 2oz [RiF 100 Mea @3 e 991 (el 2@
T R @ (iR @ rojies [ ofe 2e1 50 Bl @k e [Kpyfs et 10
Bl A @ AW aewE FeiRke [Refer qRel IR wite Sz aeifie
eresfes Rf&a @36 “95 % confidence interval” fef Tt

Discuss the advantages of sampling method over census method of
collection of statistical information.

ARPRAINNE O FRaAZF CFCq 2 ITHel oIS S T 53w afoioa
HRefer SCETH! !

Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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